FCCAnalyses: FCC-ee Simulation (Delphes)

ﬂ 1020 T 1 | T 1 | T 1 | T 1 | T 1 | T 1 | T 1 | T 1 | T 1 | T 1
¢ = [ (5=240GeV,L=10.8ab" -
L 1018i e'e - ZH,Z - vv,H - L, -
10" ~ Eniss>100 GeV, BDT score>0.5 ]
10 [ _]
~ Z(qq)H(TT) CJww [z - QQ ]
12— 7aDH B zz ee -l _
10 o ZEV)V)S:T)T) I:I e'e’ - 1t - e'e - VeVe Z -
100 ey —ez(n  [yy -1l =
ol 1 Z(t)H(t) B Z(t)H(VV) =
10° EHZw)HQQ) [ ]Z(vv)H(WV) B
105 (] ZHWY) =

1072
1074
10_6 | | |

|
-100 -80 -60 -40 -20 O 20 40 60 80 100
[GeV]

Tlead py



	Contents
	Page 1


